(B ffizR-1)AE EIR_6mik - Fft - Ao sh (S & 10 m3 Y

5 W RO® B  #H B2 HEE 1 %
IAR—MREER A 1000 O
HIRERE A 1.000 O
TREXRE A 3000 O
EEMER 6mik - ¥ - MRS E =R=! 1000 O
FHHME (R+FDHH) FHE - BELREED16% = 1.000

X OHEMBL FERMEERALCHERRICLDECREERCEEMOBERNENEATHY, FHE BNEGLREDAHBICLROERERLS:
SEELRELTEH LTS,

[BER-2)RAEE -TEA_ 10 m3 %Y
& L i ¥ B | ¥ =2 HEHEE fid %z
LTEEEE A 0.800 @)

RER - B A R B 1 REHEBE)R

Wy (Jn—78) &R HEN hoh B (LT T H)0.45/0.35m3 =] 0800 O [#EmEffiR-1]
FEME (E+FEDD) FIEE - HERRIEE D 15% =x 1.000

X OEMBI JMERICBDEQEM FRTIMNER)  REEAAZICDELGEM Fi-)-STBNEC ) BT ABERMICET2ERAZOEATHY,
FHE - BELREOSFEICLRORERL-EHELRELTE LT S,

[ Bz -3)5RAREM L=2.8km 10 m3 Y
% L i ¥ Hi | 2 EMHE fid %z

57 h5yh iR M = 0.500 (il o7 5 % 2]

EME (L) = 1.000

X EMEBIHHLEOHTLET D,

Effizz 1/3



[EffR-4)RARRE - £FE_ 10 m3 Y
5 W RO® B  #H B2 HEE 1 %

IAR—MREER A 0400 O

TREXRE A 1200 O

B (R+FDHD) FHE - RMELRRED15% = 1.000

X OHEMBIL JMERICBDEQEM FHTIMNER) REEAAZICDELGEM Fr-)-STBNEC ) BT ABRRMICET2ERAZOEATHY,

FHE - BELREOSFEICLRORERL-EHELRELTE LT S,

Hffizz 2/3



[ muEER B R 1)\ o) (Y0780 1 EER (ARER - HE T A R B (B L R EEE) LN Tyb \ B %y
BE(UFE/TFTE)0.45/0.35m3)

% b # i B #H =2 HHE it =

BERFEEH) A 1.000

B2 L 57.710

=0 45 (EAE R - BN AT BB (S 1 RELHEAE)4E

Ny (Jn—78) 18# HEN o 2 (UER TR0 45/0.35m3 #AA 1.630

FRYFAUNER KT+ —% 0.45BH =} 1.000

FEME (F50H) = 1.000

X HEHBIHBNEOHET LTS,

(B B iR -2]4 V7 V7988 (Fvn—F T —t L 10tkR) 1 B %Y
% E # i B #H =2 HHE it =

BERF(—H%) A 1.000

B2 L 65.210

557159 A T ®AE 1280

MYEEE BiF #mA 1.280

FEME (F50H) = 1.000

¥ EHBIHBNEOHT LTS,

Hiffixk 3/3



